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9fir Il EHxE A{¥l 49 48 97
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13431 MiE BE E0¥: | 52 49 101
14431 FAR EHE £ -2 IR 50 51 101
1541 k¥ BB ft A 54 48 102
1641 HZH UVAH £ -2 YuhR 53 49 102
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184iz "mH EE T 4 59 61 120
1941 WA EHi YT 4 62 72 134
201z MH EAE T 4 73 71 144
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IIE 42 TLA4Y¥—4% i ouT IN GROSS | HDCP | NET
Z % |Kiu o LE 42 49 91| 19.2 71.8
2ERE |siE FEB E -2 UVIR 45 42 87| 14.4 72.6
3 INE AEF T 4 43 43 86| 12.0 74.0
4431 EARIL A T 4 42 43 85/ 10.8 74.2
5{iz R =05 41 47 88| 13.2 74.8
61z —E FF ft A 47 44 91| 15.6 75.4
741 AT @i 99T 4 52 44 96| 20.4 75.6
81 WA X T 4 41 43 84 7.2 76.8
ofir RKE TE T 4 46 53 99| 21.6 77.4
1041 Il EE a{y 49 48 97| 18.0 79.0
114z k¥ EB ftA 54 48 102 22.8 79.2
124z PR EFHE E -2 UvhR 50 51 101] 216 79.4
13431 = XF £ -2 v 51 49 100 20.4 79.6
14431 MiE BFE EDH 52 49 101] 20.4 80.6
154z HE = T 4 54 47 101] 20.4 80.6
164 BH E T 4 54 50 104 22.8 81.2
174z = VAH £ - UVIR 53 49 102] 20.4 81.6
184z MH EE 99T 4 59 61 120 34.8 85.2
1941 3= E YT 4 62 72 134]  36.0 98.0
2041 MH EAEX T 4 73 71 144] 36.0] 108.0




